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A. Write the following in symbolic form (in digits) :

O

W 7 rupees 65 paise & ¥7.00
39 rupees 5 paise = ¥ 39.05
715 rupees 50 paise = T 715.50

e

25 rupees 30 paise = R 2.0 @ 2 212 rupees 90 paise = EJZ'
3 85 rupees 8 paise = B L& § 4 834 rupees 9 paise = & %
§ 215 rupees 80 paise = ﬁ? : o . 6 508 rupees 60 paise = ng/ a
7

780 rupees 75 paise = [ 917, ;ﬁ 8 919 rupees 15 paise = ‘Qﬂ.

B. Write the following amounts in words.

les  T58.50 = Fifty eight rupees and fifty paise.
X 382.05 = Three hundred eighty two rupees and five, paise.

1 4840 = L '{/ Qh}y,{’ W(LPL(( 1) A */ﬂy /,’HA ) i
2 T12525 = _Oh(” hu T/Afuy/.”/t rf/,/n Cap 4 bkl
3 344480 = Idds | OUr z'*m f, p ff Ul N 14.., 24l8 :t}:pj
g T787.05 = _ SOO) I ok > uSE,
5 780460 = 67/71 Jmohzool loun upo® and Qi@ Puz.
BE.TS0475 = fV(J hLLDOIZCC "fﬁuf (7(‘&(@(2[\() _@/{/h an\j /&W
.7 78380 = SQVC/) 5%/ gl Rf// Hmf V22 fv’ Q w“t%

BB 37545 - thiee huolpal QCVE/U ¢ napaefan »-f:zg;r‘-z’w,

| Convert X 8 and ¥ 15 into paise.
. T8 = 8x100 = 800 paise
15 = 15x100 = 1,500 paise




